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3 (a)

s (a) '__‘.D_iscuss th_e different ,Cbrri‘rnunic_ation structures for 2PC.

o (b) "'-~.De§cribe the distributed‘R*."query optimization algorithm.

ComPISEMV»l/ CRG1S/ DP| 26-5 - l:;—

T2826 / TO870 DISTRIBUTED DATABASES

(Time: Three Hours]

Please check whether you have got the nght ques'uon paper
N.B: (1)Question No. 1 is Compulsory.

(2) Attempt any three question out of remammg ﬁve 'I

1 (a) - Differentiate between homog‘enepus
~_ management systems with example.
(b)

Discuss the phases of distributed query processing u)i'thin’eat«dija‘g‘rain:
- Consider the following relations:

BOOKS(Book#, Primary_ author Toplc, Total - stock, $pr|ce)
BOOKSTORE(Store#, City, State; le, lnventory va\ue)
STOCK(Storett, Book#, Qty)

Total_stock is the total number of hooks in‘stock: and lnventory value is the- total
A inventory value for the store in dollars.
- (a)  Design a global schema for above database: Gwe an example of two srmpre pr edicates that
i would be meaningful for the BOOKSTORE re\atnon for honmnta\ pamtlonmg

“(b) How would a derived honzonta\ partltionmg of. STOCK be deflned based on the partitioning
j of BOOKSTORE? "~ -‘

' © Show predicates: by which BOOKS may be horlzontally partitioned by topic. Show how
- (c

the STOCK may be further partitioned from the partitions in- (b) by-adding the predicates in
(d (). ' ‘ _

What:i 15 dlstrlbuted data mdependence? Explam how dlstnbuted data independence is
provnded by the, arch|tecture of DDBMS:.

(b) ‘Dlscuss the algonthfns used for dnstrrbuted Deadlock preventrons
4 (a)‘*v Compare various lockmg based concurrency control protocols.

A (b) XML document of Restaurant Menu Card"has food items, categorized into Starters,

-‘;_Drlnks, Chlnese South and Punjabl Each food item element contains name, cost, calories,
0 ‘p.and veg/ non-veg flag.

Wnte 'DTD rules for. abbve XML document.
erte XML Schema for: abova XML document.

6 ‘Write a short notes on (Any two)
(a) Distributed transaction management

(b) Multi-version TO algorithm
(c)  Transparency in Distributed Database Design
(d) Schema architecture of federated MDBS

and - Zh‘:&t'erbgé;f.\gbu's'_ dist;r'ibdtedb " database Tap
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AL_‘ N hat is firguency ruse soacaptin coluiny communication? 05

2 P .
EXpiain various types L annloffs o B network Ly
; ¢ Vs

o~

. Explain wireless loca! togyp
What 1§ bidden and e cHbee s 1 min ] vy |
S sdaen and exposed tuoming! sreblem? Disoovy soluticns .o these as
vroblems.
: St
What is an anténna. Exp ain <ifte- 7 types ol aniamgs U3

Explain in defail fjl:.:r 3ot pILTeonl noelit St 1
- Explain HipsrlanZ i
%

Wy is mobiie [P paskat required o be forwans 5%
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Explain wminiroal fechniiade of ancapalation

Euveiala ine S onofisay ' f Y REGE 14

5 es 3 v 15 PP !
codisacdveiiapes :

Explain GSM 4 detaii 1%

+
'

Explain how Mobile Terminated Cail works detailing the role of HLR
and V Ll\

o _Explam in detall 3G arclntecture 10

._ . 'Explam UTRA FDD and TDD modes 10

. erte shor’r notes on( any 02)
4 A) Securlty issues in mobile computmg.
- B) UMTS. .
- C) Android components
D) Satellltes (GEO ann LEO)
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